




















Drections : For every question, four probable answers as (A), (B), (C) and (D) are given. Only one out 

Of these is correct. Choose the correct answer and darken the circle in the OMR Answer Sheet against 

the number corresponding to the question. 

41. 

42. 

43. 

44. 

45. 

Which of the following numbers is divisible 46. 
by 3, 4,5 and 6 ? 

(A) 36 
(C) 80 

360 g is what percent of 3 kg ? 
A 12% 
(C) 18 % 

(A) 7:30 a.m. 

C) 6: 40 a.m. 

fast. The correct time is : 

My watch shows 7:05 a.m. It is 25 minutes 

(A) 4 

(C) 

1 

\B 60. 
(D) 90 

1 

(C) 

(B) 

A) 1200 

(D) 

The length, width and height of a water tank 

are 11 m, 10 m and 9 mn respectively. The 

tank is filled with water upto 6m height. The 
empty portion of the water tank is : 

? 1800 

15% 

SECTION -II 
ARITHMETIC TEST 

21% 

(B) 

(D) 

7:50 a.m. (B) 
(D) 5: 40 a.m. 

The difference between the cost price and 
selling price of a commodity is 240. If the 

profit is 20%, then the selling price is : 

3 

? 1440 
2440 

47. 

48. 

49. 

A 1250 m long train covers a distance of 

1 km in 2 minutes. It crosses another 

stationary train in 4 minutes. The length of 

stationary train is : 

(A) 1250 m 

e 750 m 

(A) 12,000 

(C) 

How many rectangular tiles of dimensions 

10 cm x 8 cm are required to cover the floor 

of a hall having dimensions 12 mx 10 m ? 

On simplification of 

10,000 

10 × 10 + [400 + {100 

we get : 

(A) 265 

(C) 310 

(A) 

(B) 

(B) 

(D) 

500 m 

number is even 

1000 m 

LB) 
(D) 18,000 

15,000. 

A number with 4 or more digits is divisible 
by 8 if the: 

(50� 3 x 10)}], 

(B) 65 

D) 105 

last digit is divisible by 8 

(C) last two digits are divisible by 8 

\D last three digits are divisible by & 



50. A dealer gets 56 less if instead of selling a 
chair at a gain of 15% he sells it at a gain of 
8%. The cost price of the chair is: 

51. 

52. 

53. 

54. 

55. 

(A) 

(©) 

(A) 0.471 

700 

On dividing 4.239 by 0.9 we get : 

(C) 47.1 

(B) 

900 

(A) 0.005 km 

ej 

(C) 

5 cm is expressed in kilometers as : 

0.0005 km 

(D) 0.000005 km 

0.00005 km 

(C) 

15 

23 

LB) ?800 
(D) 950 

(A) 5055 

The sum of two numbers is 8 and their 

product is 15. What is the sum of their 
reciprocals ? 

VB) 

5550 

(D) 

4.71 

471 

(B) 
15 

Five thousand five hundred fifty-five is 
writtern as : 

8 

(D) 7 

(B) 5505 

(DY 5555 

If 15 is the sum of three consecutive numbers, 

then the square of the middle number is : 

(A) 16 \B) 25 
(C) 36 (D) 49 

SPA 

56. 

58. 

59. 

The difference between the greatest and 

smallest 4-digit number using all the digits 
9, 7, 0 and 4 is : 

60. 

(A) 8991 

(C) 9261 

57. The HCF of 22 x33 x 55; 23 x 32 x52x7 and 

24x34x5x 72x 13 is: 
(A) 22 x32 x5x 7×13 

(B) 
() 

24x34 x 55,. 
24 >x34 x 52x7x11 

L) 22x32x5, 

(C) 3 minutes 

(B) 
(D) 5661 

A1 km long goods train is running at a speed 
of 45 km/h. The time taken by this goods 
train to pass through a 2 km long tunnel is: 

(A) 1 minute 2 minutes 

5391 

(A) 16 

(C) 12 

A group of 80 students went on a picnic. 
20% of the students are girls and rest are boys. 
How many girls should be added to make the 
boys as 70% ? 

(A) 80 

(C) 9Q 

(B) 
LDY 4 minutes 

Rahim got 10 marks more than Dinesh. 
George got 25 marks less than Rahim. The 
total marks of all the three is 235. The marks 
of George are : 

(B) 24 

B) 65 

(D) 75 

LDY 8 


